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18 Nails of length 35 millimetres are sold in three sizes of packets.
There are 20 nails in a small packet, costing £1.36

There are 50 nails in a medium packet, costing £3.30
There are 90 nails in a large packet, costing £6.03

Small

£1.36

20 nails 50 nails

*(a) Which size of packet is the best value for money?
You must show clearly how you got your answer.
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*9 Rumana is going to take some children on a picnic.
She needs 26 cartons of orange juice.

Rumana can buy a single carton of orange juice for 38p.
She can buy a pack of 3 cartons for 90p.

p

Rumana buys all the cartons she needs for the least possible amount of money.
How much did she spend?
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*17 A shop sells tins of beans in three different sizes.

Diagram NOT
accurately drawn

Kathy wants to buy exactly 750 g of beans.
She wants to buy the beans at the cheapest possible cost.

Work out the cheapest cost.
You must show all your working.




